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Sub- English
Class VI

Time: 30 mins

MM:25

Q1. Read the passage carefully and answer the following questions:-

The father of nation, Gandhi was born as Mohandas Karamchand Gandhi on 2"! October 1869 at Porbandar.

[1x5=5]

He was married to Kasturba when he was 12. He went to England for higher studies and after becoming a
barrister came back to India in 1891.

Then Mahatma Gandhi went to South Africa in 1893 and stayed there for 12 years. There he started fighting

for injustice. He came back to India in 1915, he joined the freedom struggle and launched the non-
cooperation movement against the British.

1

What was the full name of Gandhi ji?
a) Kasturba Gandhi

b) Mahatma Gandhi

¢) Mohandas Karamchand Gandhi

When was he married and to whom?
a) At the age of 12, to Kasturba
b) In the year 1891, to Kasturba
¢) In the year 1893, to Kasturba

Where did he go for higher studies?
a) America

b) Porbandar

¢) England

Which movement did he launch after coming back to India?
a) Injustice

b) Freédom struggle

¢) Non-cooperation movement

Write one Noun and One Verb from the passage

Q2. Fill in the blanks with ‘a’ ,’an’ or ‘the’ in the given sentences:-

a) He has -—---——-cmeeeeen beautiful face.

b) My uncle is ---------------- M.P.

¢) lronis useful metal.

L — Himalayas are ------------- highest mountain range.

Q3. Write the correct Plural form of these Nouns:-

a) Kite i
b) Balloon------ --

nwY WWatah 0 |

[V4%5=2.5]

[1x5=5]



QS. Complete the following with Degrees of Comparison:- : [/2%8=4]

Hot  hotter hottest

a) Big

b) Happy

) . smaller

d)

greatest

Q6. Write a short paragraph on My Favorite Game OR MY Favorite Food. [3.5]




CLASS- VI
SUBJECT- MATHEMATICS

SET-A
TIME : 30 MINS. M.M: 25
Choose the correct alternative. (5x1=5)
. One Acute angle is -----====--=- 90°.

a) less than b) more than ¢) equal to

2. 34+ 67+17= 17434+ «womn-
a) 34 b) 67 ' o) 17
3. 12 kg 500g are equal to
a) 12.5 kg b)125¢g c) 125 kg

4. 31 of 9 is equal to

a) 27 b) 3 c) 12
5. 2.53 +3.47 is equal to
a) S b) 7 c) 6
Fill in the blanks. (5x1=5)
1. First four multiples of 8 are ----- , ===, ==== and ----.
2. 25 Paise is ==v===== part of one Rupee.

3. The boundary of a circle is called -------------- ;

4. The angle formed in one complete revolution is ---------==- :

5. 7m 13 cm are equal to ~--------= cm.



Answer the following questions. (5x3=195)

I. There are 144 oranges which are to be distributed among 12
students. Find how many oranges each student would get?

2. If the weight of one book is 250 grams then how many kilograms
will be the weight of 8 such books?

3. If the area of a rectangular field is 36 m? and its length is 9m, find
its breadth.



4. Divide 1505 by 5 and check the answer multiplying the Quotient
by the Divisor.

5. Draw the following figures with the help of ruler, pencil and

compass (compass for circle only).

a) Rectangle b) Square ¢) Circle



General Awareness and Mental Ability
Class- VI

Q.1- If yesterday was Thursday, when will be Saturday?
a) Day after tomorrow
b) Two days after tomorrow
¢) Today
d) Tomorrow
Q.2- What is the capital of Goa?
a) Lucknow
b) Imphal
¢) Shillong
d) Panaji
Q.3- Who is the current president of India?
a) Pranab Mukherjee
b) Ram Nath Kovind
¢) Narendra Modi
d) Man Mohan Singh
Q.4- Indian Air Force Day is celebrated on

a) 5 June
b) 6 December
¢) 7 November

d) 8 October

Q.5- Which number should come next in the pattern?
37,34, 31, 28,

a) 30
b) 35
¢) 25
d) 20



Q.6- Find the answer that best completes the analogy: -

Book is to reading as fork is to

a) Drawing
~ b) Writing
¢) Stirring
d) Eating
Q.7- Which number best completes the analogy-
8:4as10:
a) 3
b) 5
&) 7
d) 2

Q.8 Which piece will complete the given pattern?

a)l
b) 2
¢c)3
d)4
e)s
f) 6
Q.9- What does UPS stand for?
a) Union Public Services
b) Uninterrupted Power Supply
¢) Uttar Pradesh Services

d) Union Public Sector



Q.10- Narendra Modi was the chief minister of which state?
a) Goa
b) Madhya Pradesh
¢) Gujarat
d) Kerala
Q.11- 6500 + 500 + 250+ 90 +5=?
a) 7342
b) 7343
¢) 7344
d) 7345
Q.12- Which is greater?
a) 35+ 72
b) 46 + 27
¢) 68 +23
d) 85+ 19
Q.13- In a leap year, a year has?
a) 364 days
b) 365 days
¢) 366 days
d) 367 days
Q.14-Which key is used to move the cursor to the beginning of the next line?
a) Enter key
b) Spacebar key
¢) F12 key
d) Shift key
Q.15-Which ocean lies to the south of India?
a) Artic Ocean
b) Pacific Ocean
¢) Indian Ocean

d) Atlantic Ocean

-



Q.16-Which of the i:qllowing month has 31 days?
a) October
b) February
¢) June
d) April
Q.17-How many players are there in a cricket team?
a)9
b) 10
¢) 11
d) 12
Q.18- Garba is the dance form of which state?
a) Tamil Nadu
b) Andhra Pradesh
¢) Gujarat
d) Kerala
Q.19- Smallest state of India is?
a) Goa
b) Sikkim
¢) Tripura
d) Mizoram
Q.20-LBW is related to which sports?
a) Football
b) Hockey
¢) Badminton
d) Cricket
Q.21- 19:00 hours is equal to?
a) 4:00 PM
b) 5:00 PM
¢) 6:00 PM
d) 7:00 PM



